E‘ OBA ITM 72" Recycled Plastic Picnic Table
Assembly Instructions

globalindustrial.com Model #s: 695528, 695550, 695551

CONTENTS
Ref. | Qty. Description Ref. | Qty. Description

Assembly Instructions

Customer Service

US: 1'800'645'2986 Tabl \ Middl
! 2 Su;p:rts N 4 ! Table St?ut

I\

/

\

AN o)
2 2 Arm Struts / 5 2 Seat Slats

Table Top Hardware
3 3 Slats / H1 | 1 Pack
S

el
® @

Before you begin: Check components to verify all are included. Assembly requires two people and must be performed on a flat and
even surface. Do not overtighten hardware as damage can occur.

Step 1

Position the table supports upright and parallel to each other on a

flat surface. Lay a seat slat across the mounting surface of each support
with the angle brace (mounted under seat) facing down. Attach

using 2 1/4" long carriage bolts, lock washers and hex nuts.

Repeat for the other side.

Step 2

Attach one outside edge table top slat to the supports using

2 1/4" long carriage bolts, lock washers and hex nuts. Place middle table
strut with flat side facing up and perpendicular to the underneath side of
previously installed table top board, attach using 2 1/4” long carriage bolt,
lock washer and hex nut.

Page 1 of 2 As of 10/2019



Connection Detail

Step 3

Attach center table top slat to supports using 2 1/4” long carriage
bolts, lock washers and hex nuts. Position both arm struts on

the middle table strut, attach to strut and middle slat using a 3”
long carriage bolt, flat washer, lock washer and hex nut, leave
loosely tightened. Attach both support arms to lower table support
Ibracket using 1” hex bolt, flat washer, lock washer, and hex nut.

Step 4

Attach the remaining table top slat to the supports and middle
strut using 2 1/4” long carriage bolts, lock washers and hex nuts.
All hardware can now be tightened.

Page 2 of 2

As of 10/2019




